6 5 4 | 3 | 2 | 1
PART LIST
PART NUMBER PART NUMBER
' 40X40mm Dovetail Bearing, Brass, XY-Axis
- [44mm] - 1 1 ) TASB-402 Stage, Center Leadscrew, +/-7mm, M3 Threads
40X40mm Dovetail Bearing, Brass, Z-Axis Stage,
! o) o o) 2 1 - TASB-403 (Horizontal Platform/Base) Center Leadscrew, +/-
2.5mm, M3 Threads
3 3 - ISO M3 x 6
1.77in O O |o
[45mm] ﬁ

1.57in 1.57in
- [40mm] _ - [40mm]
i
©
1.34in
[34mm] o
n | j —T
U el ] — o

[64mm]

H 1.18in E

[30mm]

I THIS DOCUMENT CONTAINS PROPRIETARY INFOMATION OWNED BY OPTOSIGMA CORP. AND MAY NOT BE USED, IN WH ANY PURPOSE INCLUDING DESIGN, MANUFACTURE OR PROCUREMENT WITHOUT THE WRITTEN PERMISSION OF OPTOSIGMA CORP.
TOLERANCES gsAWN DATE [MATERIAL Contacts: REV.
. * T 51612023 USA: sales@optosigma.com
#? OptoSigma T o e @optosigr
. 0x £03  [BY Europe: sales@optosigma-europe.com
WWWOptOSI g ma.com g;;}( ;gas [APPROVED DATE [SCALE ~ |FILE NAME 3 [Assembly: i PAGE
0.X0XXX o005 [BY | 3 axis stage brass XYZ 3 axis stage brass XYZ 10f 1



	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4


